
Chapter 3 Section 3.3 The Factor Theorem Polynomial Functions 

Assignment p. 133 # 1 ʹ 7, 11 ʹ 16 Quiz Next Day! 

 
Name: ________________________         Date: __________________ 
 

Learning Goal 3.2 
Factoring, including the factor theorem and the remainder 
theorem. 

 
Example Which of the following number is ͹ a factor of?  How do you know? 

ͷ͸ ͻʹ ͹ͷͻ ͺͳʹ 
 
 
 
 
Example Find the remainder when ݔଷ െ ͸ݔଶ ൅ ͹ݔ ൅ ͸ is divided by ݔ െ ͵? 

a. Synthetic/Long Division b. Remainder Theorem c. So is ݔ െ ͵ a factor? 
 
 
 
 
 
 
 
 

The Factror Theorem Integral Zero Theorem 

 
Example Which of the following could be a factor of ݔଷ ൅ ͷݔଶ ൅ ݔʹ െ ͺ?   

ݔ ൅ ݔ ʹ െ ͹ ݔ െ ͺ ݔ ൅ ͳ͸ 
 
 
 
Show which of these, if any, is a factor. 
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Example Verify that ʹݔ െ ͵ is a factor of ʹݔଷ െ ͷݔଶ െ ݔ ൅ ͸ in two different ways. 
 
 
 
 
 
 
 
 
 
 
 
Example For what values of ݇ will ݔ െ ͵ be a factor of ʹݔଷ െ ଶݔ݇ െ Ͷݔ ൅ ͵? 
 
 
 
 
 
 
 
 
 
 
 
 
 
Example Factor ݔଷ െ ଶݔ െ ͷݔ െ ͵ fully. 
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